55 52 525 Ostwaldcolours (l_)) Yi~=100 Xw=97,06,Y,,=99,99,7,,=104,57 BD
0,8 1/ Mm_max (m) chronje}tlc \(alue, P60 X,=0,3218y,,=0,3315 +40
)51310 ¢ |25t0he chromaticity diagram (X, y) Ao=(ao-2g,) Yis (y/ym)i;a
WVm Bo = (bp ~bg) Y15 (Y/Y19)1/3
ag =ag [x/y] 4L
by = bao [2/4] 2 42
a50=1, byg= -0,4
Ao
+ t t b
n = P60 -40 40
R628 5
9395¢,E 1 35
CIE 1931 X OstwalddRlours (0) Y\j/=100
max (m)F atic vglue, P60
0,0 0,2 04 0,6 0,8 1,0 chroma (A*\ B*o)
BE241-1A_1 BE241-2A 1
Xu=97,06 Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%y=0,3218y,,=0,3315 Lo Xy=0,3218y,,=0,3315 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA P82 ., =bs0 [(Mpx+bp1)/Y]
ap0=1, byy=-0,4 rm’ 850= 1, byg= -0,4 9 - A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 ! ! o2
f t t b i t t b
n = P60 —40 40 n = P60 —40 5\ . 40
v 35
O®waldg s (0) Yyy=100 Ostwaldcolours (o) Yy=100 5
(m)T atic value, P60 max (m) chromatic value, P60 T-40
chfoma (8¢, B*;; chroma (A*,, B*))
BE241-3A_1 BE241-4A 1
Xu=97,06.Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%y=0,3218y,,=0,3315 20 Xy=0,3218y,,=0,3315 Lo
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
a3 = a0 [(x-0,172/y] + ay = a0 [(x-0,172/y] +
b3=byo [(Mp1x+bp1)/y] ba2 42 bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 30= 1, byp= -0,4 be2 ,,
mMp;=-0,974,bp;=0,658 , & mp;=-0,169,bp1=0,389 f o—o A:A
n=P60 _40 ' 40 n = P60 _40 ' ' 40
35 7 35
olours (0) Yy=100 n:wnh:l olours (0) Yy=100
Ehdiatic value, P60 max (m)Fhdatic value, P60
A*3 B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1
Xu=97,06.Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%y=0,3218y,,=0,3315 240 Xy=0,3218y,,=0,3315 240
As= (@5~ as) Yig <Y/Y18>ig A6 = (@~ a6,) Y1 (Y/Ym)ig
Bg = (b5 — b5 ) Y15 (Y/Y19) Bg = (b6 — g ) Y15 (Y/Y19)
8 = a5y [(x-0,17D/y] il ag = agg [Xy] il
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
30=1 byp=-04 o3 A 80=1, by=-04 2 y A
mp;=-0,974,bp,=0,658 n g mp;=-0,974,bp,=0,658 n 6
+ t b t t b
n = P60 -40 35 40 n = P60 -40 35 40
5
olours (0) Yy=100 Ostwaldcolours (0) Yy=100
Ehdiatic value, P60 max (m) chromatic value, P60 T-40

A*s, B*g)

chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




Ostwaldcolours (o) Y\y=100
M, max (m) chromatic value, P55
igstohe chromaticity diagram (X, y)

0525

X=97,45 Y, =100,00.Z,,~95,98
Xy=0,3321y,,=0,3407

Ao= (@0~ agy) Yig (Y1913
Bo = (bo = bo,n) Y1 (VY1913

29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

By

40

n = P55 —-40
0 625
570
93950 E
CIE 1931 X
0,0 0,2 0,4 0,6 0,8 1,0
BE241-1A_1 BE241-2A 1
Xw=97,45 Y,,=100,00Z,~9598 B, Xu=9745,Y,~100,002,~95.98 B,
xy=0,3321y,,=0,3407 B F40 X=0,3321y,,~=0,3407 B +40
A= (@121 Yig (Y/Ym)l/ Ax=(@-apn) Yig (Y/Ym)l/
By = (b — by ) Y1g (Y/Y;91/3 By = (b — by ) Yag (Y/Y19)1/3
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA P83 ,, =bs0 [(Mpx+bp1)/Y]
A= 1, by = =0,4 ,ﬁy ap0= 1, byp= -0,4 9 " A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 ! ! o2
n=Ps5 40 ' 40 n=Ps5 -40 ' 40
7 36
Ogwalddolgurs (o) Yyy=100 Ostwaldcolours (o) Yy=100
mgx (m)Eidimatic value, P55 max (m) chromatic value, P55
chjoma (%*4, B*)) chroma (A*,, B*,)
BE241-3A_1 BE241-4A 1
Xu=97,45 Y,,=100,00Z,-9598 B, Xo=9745,Y,~100,002,~95,98 B,
X,=0.3321%,0.3407 A0 X,=0.3321%,0,3407 20
A3=(a3~ap) Y1g (Y/Ym)ils As=(@s=a4n) Yig (Y/Y13)1/3
B3 = (b3~ bs ) Y15 (Y193 By = (0~ by ) Yag (Y/Y19)1/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] bas 42 =50 [(Mp1x+bp1)/Y]
80=1, byp=-04 80=1, by=-0,4 P83 4, A
Mp1=-0,974,0r;=0.658 : NS mp;=-0169,b5:=0389 &3] : N
n=P55 —40 66 40 n=P55 —40 ' ' 40
7 36
olours (0) Yy=100 Ogwalddolours (o) Yy=100
Ehdfnatic value, P55 max (m)Fhdatic value, P55
ch®ma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1
Xw=97,45 Y,,=100,00Z,~9598 B, Xu=9745,Y,~100,002,~95,98 B,
x=0.33219,0.3407 A0 X,=0.33214,0.3407 20
As= (a5~ asp) Y1g (Y/Y18)1/3 As= (@5~ Y18 (Y/Y13)1/3
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] AL g = a0 [X/y] 4L
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
_ — 3 42 = — 3 42
a0=1, byy=-0,4 P8 A ay= 1, byg= -0,4 o4 A
mp;=-0,974,bp,=0,658 n g mp;=-0,974,bp,=0,658 n 6
n=P55 —40 66 40 n=P55 —40 ' 26 40

olours (0) Yy=100
Fhdnatic value, P55

A*s, B*g)

Ostwaldcolours (o) Yy=100
max (m) chromatic value, P55
chroma (A*g, B*g)

-40

BE241-7A_1

BE241-8A 1



515 520 505 Ostwaldcolours (l_)) Y~=100
7 M, max (m) chromatic value, P50
igstohe chromaticity diagram (X, y)

X=98,12,Y,=100,00Z,~8650 B,

%y=0,3447y,=0,3513 110
Ao= (@~ a0, Yag (Y19 /3
Bo = (b — b,n) Y (Y/Y19)1/3
ag = ao [x/y] 4
b = byo [z 92280 4,
a0=1, byp=-04 {ﬂ‘o':’\\
)

n = P50 -40
2E2, 37
995¢,E 1
1
' CIE 1931 X OstwalddRlours (o) Yyy=100
max (m)] atic vdlue, P50
0,0 0.2 0,4 0,6 08 1,0 chroma (A*o\B*)
BE241-1A_1 BE241-2A 1

X,=98,12,Y,,~100,00Z,78650 B,

X,=98,12,Y,~100,00Z,~8650 B,

xy=0,3447y,,=0,3513 p +40 X=0,3447y,,=0,3513 P +40
A= (@121 Yig (Y/Ym)i /3 Ax=(@-apn) Yig (Y/Ym)i /3
By = (b — by ) Y1g (Y/Y;91/3 By = (b — by ) Yag (Y/Y19)1/3
a; = ag[(x-0,17Dh] 4L 2 = a0 [(x-0,172/y] 4L
by =byo [ZA 9280 4, 0,=byo [(Mp1x-+bp1)/y]
ay0= 1, byo=-0,4 Fgg‘ a0=1,by=-04 9280
my1=1,000,bp,=0,171 \ , o1 Mp1=-0,169,bp;=0,389 K e s by
n = P50 —40 ' 40 n=P50 —40 ' . 40
7 37 ° 37
19
5

Ogtwalddolglrs (o) Y\y=100 Ostwaldcolours (o) Yy=100

mgx (m)E! atic value, P50 max (m) chromatic value, P50 T-40

chioma (%4, B*)) chroma (A*,, B*,)

BE241-3A_1 BE241-4A 1
X,=98,12,Y,,=100,00Z,~86,50 B, X,=98,12,Y,,=100,00Z,~8650 B,
X=034479,03513 e X0.3447%,03513 20
A3=(a3~ap) Y1g (Y/Ym)l/ As=(@s=a4n) Yig (Y/Yw)l/
B3 = (b3~ bs ) Y15 (Y193 By = (0~ by ) Yag (Y/Y19)1/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] dbso 42 bs=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 =1, by=-04 9280
mo=-0974b=0G58 |, etz 1. As mp=-0160bpZ03g0 |, P800 @ A
| t t b } t t b
n = P50 -40 > 37 40 n = P50 -40 7 37 40
1
Os| [dolours (0) Yyy=100 Ostwalddolours (o) Yy=100

max (m)hdfatic value, P50 max (m)Fhdatic value, P50
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1
Xw=98,12,Y,,=100,00,Z,,=86,50 B5 Xw=98,12,Y,,~100,00,2,,=86,50 BS
x,=0,3447y,,=0,3513 +40 X=0,3447y,,=0,3513 +40
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 ag = ag [x/y] 4
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ax=1, byy= 0,4 9280 42 A 0= 1, byo= ~0.4 9280 42 A
Mo=-0,074b=0658 __, p62) 1, 5 Mpy=-0,974b,=0,658 @62 | 6
n=P50 —40 ' 37Q 40 n=P50 —40 ' 37 40
7 5
1 N
Os| [dolours (0) Yyy=100 Ostwaldcolours (o) Yy=100 7
max (m)Ehdhatic value, P50 max (m) chromatic value, P50 T—40

chroma (A*s, B*s)

chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




520 Ostwaldcolours (o) Y\y=100

515 0525

X=99,20Y,=100,00Z,~76,07 B,

0,8 M, max (m) chronje}tic \(alue, P45 Xy,=0,3603y,,=0,3632 40
g |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)i;a
Wm Bo = (bp ~bg) Y15 (Y/Y19)1/3
8 29 =ago [x/y] +
by = bao [2/4] bo
ay0= 1, byo= -0,4 P 42
o\\ A,
: : ' >
n= P45 -40 40
Q 625 38
> 70
995¢,E 1
1 5
CIE 1931 X Ostwaldgylours (o) Yiy=100
max (m)Tl atic yalue, P45
0,6 0,8 1,0 chroma (A* \B*o)
BE241-1A_1 BE241-2A 1
X,=99,20Y,,~100,00Z,~7607 B, X4=99,20Y,=100,00Z,~76,07 B,
%y=0,3603y,,=0,3632 Lo Xy=0,3603y,,=0,3632 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = by 2] 8d 82 4 0,=byo [(Mp1x-+bp1)/y]
ay0=1, byy=-0,4 80=1, by=-0,4 84 B2, A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 , 6D— ! o2
Ue f t t » i t t »
n=P45 —40 > 40 n= P45 —40 5"7\ 28 40
1 17“ 5
5
Odtwalddojours (o) Yyy=100 Ostwaldcolours (o) Yy=100
max (m)phdiatic value, P45 max (m) chromatic value, P45 T-40
chjomafA*,, B*)) chroma (A*,, B*,)
BE241-3A_1 BE241-4A 1
X,=99,20Y,,~100,00Z,~7607 B, X=99,20Y,=100,00Z,~76,07 B,
%y=0,3603y,,=0,3632 210 Xy=0,3603y,,=0,3632 210
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] . bs=byo [(Mp1x-+bp1)/y]
2p= L, byo= ~04 a4 a50=1, by=-0,4 84| 82
Mp1=-0.9740,=0.658 | o6P] , As mp=-0,169bp=0389 pEOTO- 42 As
n=P45 —40 389 40 n=P45 —40 ! ! 40
7 38
| /15 5 15
Os| olours (0) Yy=100 Ostwalddolours (o) Yy=100
ma¥ (m)hdfatic value, P45 max (m)Fhdatic value, P45
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1
X,=99,20,Y,,~100,00Z,~7607 B, X=99,20Y,=100,00Z,~76,07 B,
%y=0,3603y,,=0,3632 410 Xy=0,3603y,,=0,3632 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
a5 = ay[(x-0,171/y] 4 g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay0=1, byo= -0,4 82 42 ay0=1, byg=-0,4 84 A
mp;=-0,974,bp,=0,658 n g mp;=-0,974,bp,=0,658 n oﬁP/ 6
n=P45 —40 389 ' 40 n=P45 _40 ) 40

olours (0) Yy=100
Fhdnatic value, P45

chroma (A*s, B*s)

Ostwaldcolours (0) Yy=100

max (m) chromatic value, P45 ]
chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




515 520 505 Ostwaldcolours (o)

Yi=100
value, P40

X,=100,93,,~100,00Z,~64,68 B,

0,8 Mmmaﬁ (mt)1 chromaticd Xw=0,3799y,=0,3764 3 L0
in tl ticity di 8 = —
g 250 e chromaticity diagram (X, y) Ag=(@g-29,) Yig (Y/Y13)1/3
Bo = (0o — b ) Y15 (Y/Y1g)
29 =ago [x/y] +
by = bao [2/4]
0= 1, byp=-0,4 78 B3 43
o-‘.\ Ao
+ t ¢ b
n = P40 -40 40
Q625 39
> 70
9395¢,E
T 1
1
g CIE 1931 X Ostwalddlours ($) Y\\=100
0 max (m)T! ic value, P40
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*o\Bf o)
BE241-1A_1 BE241-2A 1
X,=100,93,,~100,007,~64,68 B, X,=100,93,,~100,00Z,~64,68 B,
%y=0,3799y,,=0,3764 Lo Xy=0,3799y,,=0,3764 Lao
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 78 | 83 0,=byo [(Mp1x-+bp1)/y]
ap0= 1, byy=-0,4 43 A 80=1, byp=-0,4 78 B3 g
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 XO——_ T o2
- f t t b o i t
n=P40 —40 20 40 n=P40 —40 5“6\\ 39 40
& 16 21
4 1 4
Ogtwaldgolours (o) Y\y=100 Ostwaldcolours (o) Yy=100
max (f Ehdiatic value, P40 max (m) chromatic value, P40 T-40
chijopia (A* 4, B*;) chroma (A*,, B*,)
BE241-3A_1 BE241-4A 1
X,=100,93,,~100,007,~64,68 B, X,=100,93,,~100,00Z,~64,68 B,
Xy=0,3799y,,=0,3764 " 20 Xw=0,3799y,,=0,3764 " 240
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + a =2y [(x-0,171/y] 4
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay =1, byy=-0,4 78 |83 _43 ay=1, byy=-04 78 |83 43 A
mMp;=-0,974,bp1=0,658 L o] n S mp;=-0,169,bp,=0,389 s n NG
t t t b i t t b
n = P40 —40 39 40 n=P40 -40 6 39 40
® 21 1 21
1 i 1
Ostwalddolours (o) Yyy=100 Ostwalddolours (o) Yy=100
max (m)Ehdfatic value, P40 max (m)Fhdatic value, P40
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1

X,=100,93,,~100,007,~64,68 B,

X,=100,93,,~100,00Z,~64,68 B,

%y=0,3799y,,=0,3764 20 Xy=0,3799y,,=0,3764 240
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 — b5 1) Y18 (Y/Y19 Bg = (b5 — b ) Y18 (Y/Y19)
8 = a5y [(x-0,17D/y] il ag = agg [Xy] il
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay =1, byy=-0,4 78 83 _43 ay=1, byy=-0,4 7g p3 43 A
Mp;=-0,974,bp;=0,658 L o] , e mp;=-0,974,b,=0,658 Worsomll N
n= P40 —40 ' 3907 40 n= P40 —40 ' 39 40
® 21 9 1
1 7 16

Ostwalddolours (o) Y\y=100 Ostwaldcolours (0) Yy=100

max (m)Ehdhatic value, P40 max (m) chromatic value, P40 T—40

chroma (A*g, B*s) chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




515 520 505 Ostwaldcolours (0) Yi=100 X,=103,66,Y,,=99,99,7,,=52,43 BD
0.8 1/ Mm_max (m) chronje}tlc \(alue, P35 X=0,4047y,,=0,3904 r40
g |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)i;a
- Bo = (bp ~bg) Y15 (Y/Y19)1/3
29 =ago [x/y] 4
by = bao [2/4]
a50=1, byg= -0,4 72
: ]
n=P35 _40 )
Q625
> 70
995¢,E |
1
! CIE 1931 X Ostwaldd
0 max (m)F
0,0 0,2 0,4 0,6 0,8 1,0 chroma (}
BE241-1A_1 BE241-2A 1
X,=103,66Y,~99,99.2,75243 B, X,=103,66)Y,~99,99.7,~5243 B,
%y=0,4047y,,=0,3904 Lo Xy=0,4047y,,=0,3904 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay0=1, byy=-0,4 72 [85 44 ay=1, byp=-04 2 ks A
mp1=1,000,bp;=0,171 , il Mp;=-0,169,bp;=0,389 44 2
f t »
n=P35 -40 40 40 n=P35 -40 5! 40 40
27
7 14
olours (0) Yy=100 Ostwaldcolours (o) Yy=100
Ehdfnatic value, P35 max (m) chromatic value, P35 T-40
chrdma (A*;, B*;) chroma (A*,, B*))
BE241-3A_1 BE241-4A 1
X,=103,66Y,~99,99.2,75243 B, X=103,66)Y,=99,99.7,75243 B,
%y=0,4047y,,=0,3904 240 Xy=0,4047y,,=0,3904 240
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (b3~ bs,) Y1 (/Y1913 By = (b4~ by,0) Y1 (/Y1913
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ayy=1, byy=—0,4 85 44 80=1, by=-0,4 72 |85
Mp1=—0,974,b;=0,658 /2 As mp1=-0,169,bp;=0,389 44 As
n=P35 40 n=P35 40 40
27 27
Ostwalddolours (o) Y\y=100 Ostwalddolours (o) Yy=100
max (m)Ehdatic value, P35 max (m)Fhdatic value, P35
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1
X,=103,66Y,~99,99.2,75243 B, X=103,66Y,~99,99.7,~5243 B,
%y=0,4047y,,=0,3904 240 Xy=0,4047y,,=0,3904 240
As= (@5~ as) Yig <Y/Y18>ig A6 = (@~ a6,) Y1 (Y/Ym)ig
Bg = (b5 — b5 ) Y15 (Y/Y19) Bg = (b6 — g ) Y15 (Y/Y19)
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay0=1, byo= -0,4 85 44 ay=1, byy=-04 Bs 44
Mp1=-0,974 bp;=0,65! /2 As Mp1=-0,974 bp,=0,658 /2 As
n=P35 40 n=P35 40

Ostwaldg

olours (0) Yy=100
Ehnatic value, P35

max (m)T
chroma (;

A*s, B*g)

Ostwaldcolours (0) Yy=100
max (m) chromatic value, P35 ]

chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




520 Ostwaldcolours (o)

Yw=100

X,=108,04,,~100,00Z,~39,55 B,

515 1 525 :
0,8 1/ Mm_max (m) chronje}tlc \(alue, P30 X=0,4363y,=0,4038 L0
g |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)i;a
N Bo = (bo ~ bo,0) Y1 (Y/Y19)1/3
ag =ag [x/y] 4L
by = bao [2/4]
=1, by=-04 66 BT 44 A
0
. . . N
X n=P30 —40 ' 42 40
N\ 525 3
995¢,E
DT
' CIE 1931 X Ostwaldgdfours (o) Y\\=100
0 max (m)Fhdatic value, P30
0,0 0,2 04 0,6 0,8 1,0 chroma (A*q, B*g)
BE241-1A_1 BE241-2A 1
X,=108,04,~100,00Z,~3955 B, X,=108,04,,~100,00Z,~39,55 B,
%y=0,4363y,,=0,4038 Lo Xy=0,4363y,,=0,4038 240
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ap0=1, byg= 04 66 |87 44 a=1, by=-04 66. 7 A
mp1=1,000,b,=0,171 \ \ R mp;=-0,169,bp;=0,389 44 2
n="P30 —40 ' 428" 40 n=P30 —40 5 42 40
2 3 12 33
b 4 1
Ostwalddolours (o) Y\y=100 Ostwaldcolours (o) Yy=100
max (m)Ehdfatic value, P30 max (m) chromatic value, P30 T-40
chroma (A*4, B*;) chroma (A*,, B*,)
BE241-3A_1 BE241-4A 1
X,=108,04,~100,00Z,~3955 B, X,=108,04Y,,=100,00Z,~39,55 B,
%y=0,4363y,,=0,4038 " 20 Xy=0,4363y,,=0,4038 " 240
A3 = (a3~ a3 ) Y15 (Y/Y19) Ag= (@4 =ag) Y15 (Y/Y1g)
B3 = (b3~ bs,) Y1 (/Y1913 By = (b4~ by,0) Y1 (/Y1913
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1 byp=-04 87 44 80=1, by=-04 66
Mp1=-0,974 by,=0,658 66 As Mp;=-0,169 bpy=0,389 8 44 As
n=P30 3 40 n=P30 -40 42 40
1) 33
Ostwalddolours (o) Y\y=100 Ostwalddolours (o) Yy=100
max (m)Ehdfatic value, P30 max (m)Fhdatic value, P30
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1

X,=108,04,,~100,00Z,~39,55 B,

Xw=0,4363y,,=0,4038 Eld

A5 = (a5 = 3s,0) Y15 (VY19 H3

Bs = (b5~ bs,) Y1 (Y/Y19)1/3

a5 = apo [(x-0,179] i
bs=ba0 [(Mp1x+bp1)/y]

ap0=1, byg= 04

Mp1=-0,974 bp;=0,65! 66
n=P30

Ostwaldg

olours (0) Yy=100
Ehrnatic value, P30

max (m)T
chroma (;

A*s, B*g)

X,=108,04Y,,~100,00Z,~39,55 B,
Xw=0,4363y,,=0,4038

A6 = (@ ~ ag) Yig (Y1913

Bg = (b — bg,) Y (Y/Y19)1/3

g = a0 [X/y] g
bg=bao [(Mp1x+0p1)/y]

850= 1, byo= -0,4

Mp1=-0,974 bp,=0,658 66
n=P30

Ostwaldcolours (0) Yy=100

max (m) chromatic value, P30 ]
chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




Ostwaldcolours (o)

Yw=100

X,=115,18,,~100,00Z,~26,59 B,

515 %0525 :
0,8 1/ Mm_max (m) chronje}tlc \(alue, P25 X=0,4764y,,=0,4136 +40
g |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)ig
\ Bo = (0o — b ) Y15 (Y/Y1g)
29 =ago [x/y] +
by = bao [2/4]
820=1, by =-04 61 PL 46 A,
. . \ N
ViI; n=p25 75 t 7 yA
P 625 8
o 70
995¢,E
8\ 4
' CIE 1931 X Ostwalddolours (0) Y\\=100
0 max (m)Fhdatic value, P25
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A%, B*()
BE241-1A_1 BE241-2A 1
X,=115,18Y,,~100,00Z,~2659 B, X=115,18,,~100,00Z,~26,59 B,
Xy=0,4764y,,=0,4136 Lo X=0,4764y,,=0,4136 T 40
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay0=1, byp=-04 61 o1 a6 850= 1, byo= -0,4 -
mr1=1,000,bp1=0,171 e A Mp1=-0,169 bp;=0,389 Pl 4 A
n=P25 —4 ! 4497 f n=P25 — 5 44
40 2 /’8 40 40 . > 4
8 1 1
Ostwalddolours (o) Y\y=100 Ostwaldcolours (o) Yy=100
max (m)Ehdfatic value, P25 max (m) chromatic value, P25 T-40
chroma (A*4, B*;) chroma (A*,, B*,)
BE241-3A_1 BE241-4A 1

X,=115,18Y,,~100,00Z,~2659 B,

X=115,18,,~100,00Z,~26,59 B,

Xy=0,4764y,,=0,4136 40 X=0,4764y,,~0,4136 +40
A3=(a3~ap) Y1g (Y/Ym)i;?’ As=(@s=a4n) Yig (Y/Y13)1;3
B3 = (b3 — by ) Y1g (Y/Y191/3 By = (bs — bay) Yag (Y/V191/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 o1 46 a50= 1, byg= -0,4 -
Mp1=-0,974,b,=0,658 61 As Mp1=-0,169 bp;=0,389 PL 46 As
n=P25 8 40 n=P25 -40 4D 40
8 38
8 - -
Ostwalddolours (o) Y\y=100 Ostwalddolours (o) Yy=100
max (m)Ehdfatic value, P25 max (m)Fhdatic value, P25
chroma (A*3, B*3) chroma (A*4, B*y)
BE241-5A_1 BE241-6A_1

X,=115,18Y,,~100,00Z,~2659 B,

X, =0,4764y,,=0,4136 +

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3
a5 = a [(x-0,171)/y] i
bs=byq [(Mp1x+bp1)/y]
ay=1, byp=-0,4

mMp;=—0,974,b5,=0,65
n=P25

X=115,18,,~100,00Z,~26,59 B,
X=0,4764y,,~0,4136

Ag = (B ~36,) Y1s (VY1913

Bg = (b5 — b ) Y18 (Y/Y19)

ag = ag [x/y] 1

bg=bs0 [(Mp1x+bp1)/y]

=1, by=-04 by 46

Mp1=-0,974 b;=0,658 61

n=P25

Ostwalddolours (o) Y\y=100 Ostwaldcolours (0) Yy=100
max (m)Ehdhatic value, P25 max (m) chromatic value, P25 T-40
chroma (A*s, B*s) chroma (A*g, B*g)

BE241-7A_1

BE241-8A 1




